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2. Use the graph below to answer the questions below. Estimate where needed.

The absolute maximum 1s:
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¢. The graph is decreasing on the interval(s)

a. The absolute mimimum is: b.
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2 A. Describe the translations of the parent function f{x) = »* that give

g(x) =-25(x - 2F +3. Righ & X

B. Sketch the Graph of g(x) A . 8
C.  Give the Domain and Range of g(x). ~ F
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3. Graph the piecewise function given below.
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5. Use your calculator to graph and Solve |x -2| - 2 = (x + 5)

6. Use your calculator to graph and Solve |x +2| — 4 < 0 by graphing.



7. Graph the following equation by hand and determine the solution

8. Write the rule that defines the function in the following graph
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10. Solve the system of equations algebraically
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